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Note: Ed-CET-2009 Test Questions along with key is given below, locate the question in your respective test book let series i.e.,(A,B,C,D)
with key. Objections regarding key are invited, with written authentic proof to the Convener Ed-CET-2009, Osmania University latest
by 23rd June 2009.
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2 2
@) (x*+e)y=2x

(Ans:1)

4 I:.:2 +e)y =21
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; (Ans: 2)
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34. The general solution of x*y™ = 24" is
Aoy = 2y s Sroes s
[1} ¥ [ |'I'.| |l"lg T + X I.,l_] y= a—h ]Uﬁl al L':.:l.'l A 3
(3) v=a+blogx | & (4] y —a+blogx + ( ns: )

55. (2¢¥ = x) ¥ = | is the differential equation ol the amily of curves.

W L St R mE e
(2e” —x)y =1 g enhimes BNt S St Hdéosemid Tolnn

(1) x=ce ¥ =e" 2) x=¢" 4+

Ans: 2
|:F!‘_J' r+et =pe ¥ {'U =& ¥ 4+ o0t ( )

_ Ay 3yt
36, Integrating factor of i .11—.1'_!.-' 1%
o day + jfl
E - 'l:l——-I'!- By rwarEue foratean
() x (21 5 (Ans: 4)
i3) logx (4) =

57. The general solution of " + ¥ — cosh x is
¥ 4 ¥ =cosh x 5 Zroedies o

(1) y=egcosx+iysing + cusx {2) y=¢rosx+oosiny+siny (Ans- 4)
; I
(3} v = cosa+ o, sinx +sinh x {4) ¥ =0 COSx + oy 8N K Ef"JEh X

38, A solution among the Tollowing satisfying " — v = cosh x is

T

. g o ) o, I S -
Sollondd v - v = coshx Bo SRl TRenE nsel

(1} y¥=sinxr+ grsinh X {2y ¥=uosx+ %cush X (Ans:3)
x
(31 y=coshx+ = sinh x (#) v =sinx+sinhx
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59 (2Zx+ Iy y" = 2{2x+ 1y - v =0 is the dilTerential equalion of the [mily of curves,
Cr+17y" 12020+ - v = 0 eB8 308 Se Severdd anses 508tmo

i

v=alZe+ 112 _ o - .
(- ' T2+ 1)t ) y=a(2x+ 1 +5i2x + 1) (AnS. 3)
ra— {
() Y=avle+l b — iain” s oo b
Ny 4y ¥ fll"éx+]J+2.t+l

60, The equation of the curve passing through the origin and satistying the differential equation
1+ 3y + 2xy = 4x% is

S T | Ay s e e SRRy ppat aet wl D e 2y 0 dosn s e S w we er e
AT l.-\.ll}_l\_--tl] e %_. ENOER ) Al DA r] + x '] ¥ | 2_-"-}_- =— 4_,1-5 Al -:_,:c".ﬁ_l",'lﬁ_;:-_l "-".:"; Y T et

(1) log log x (2) 3¢ (1 -2 = dx (Ans: 2)

i ) y(L+5) = 4

x
61, The sum of coefficients in the expansion of (1 - £)® is
1 ] [ Tar, i
(1 +x) dlaeth, S5SOETD LaTududo

e (2) 27

: (3) n2""! 4y 2" (Ans: 4)
62, IF AAB = (A— B) (B - A)lor any two sets, 4, B, then AABAA =

T3 Dotls Bistonts AAB = (A—BYU(B - A) wcosd AARAA

i a8 {2 A4 (3 o 4 B (Ans: 4)

63, If o, [}, 1, & are the roots of the equation +* — 3y — 5 =1 then ot 4 E” + ‘:,'4 + g5t

= .:b

By B s 2t - 3x -5 =0 o Blesten farew sexd of + Y+ v 4 B0

() X (2} 10 (3} - 10 (4} 30 (Ans: 1)

64 If xe R, |x= 1|+ 2| x—2]<6 then x lics in the interval,
xER|a+1]4 2| x-2| <6 ecosd x 5o 50 mobto
(1) -1.2] (2) (o, =1
(3} (2, o) @) (o D) (DELETED)

\ (One Mark added To All)
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63, Il p is u prime sumber that leaves remainder 2 1 when divided by 6 then r =

6 T srRceeGanels MgEs o [ o+l -:\-"L‘-’E-:E'-u;_-'-\.n'\vj r

(1) 2 () 3 (3) 4 i 3 (Ans: 4)
66, The square of a natural number never ends in the digit

a TaeaTed EI,_.{:_.,,\I ;_:l.:;l ml. o Rl oD e snsiin -\_E:Rl Fah i el

(y 1 (2) 4 3) 9 4) 2 (Ans: 4)

7. In a triangle ARC, D is the mid point of BC such that AD = BD = CI), Then A/BAC =
X famizo ABC £ AD=BD=CD r,,w:.-r_- B Zogl Sotiagn D escth ABAC =

(1) 6 () 75° _
{31 D0° () 1200 (AnS. 3)

. il 2 iy gl
6R, Hirisarotof X +x+ 1 =0 then o008 4 2% =

bl ¥
r+x+l- 05 ﬁasjﬁdwé:r_ﬂﬂﬁ R

(13 1 2) -1 (3) 0O (4) o (Ans: 2)

B2, The sum of all twao digit odd namral numbers 1s

A,
OCEEsEm Bled nond "t ':':-:,J!:-:Ih.:' [ .-'\ul'-f' o

(1) 2475 (2] 2450 {31 2420 @ 2480 (Ans: 1)

70, Three cubes each of side 5 em are joined end to end 1o lorm a cuboid. Then the surface ares ol the
cubnid, in sguare units, is

SETED gheo 5 DA e dordh Pomeiis o 00 Job w8l 38 o Sgiodo Sthiiey DuldEnd.

Enidiy e -igm‘-:i » caidDibe TEees SO0 QX Eﬁn ;

(1) 350 (2} 430 (3) 500 @ 550 (Ans: 1)
71. Inatriangle ABC. tan A +tan B - tan C =

digicess ABC & lan A + lan B + tan C

(1 0 (2} tan Atan B lan C

(3) tan Atan 3 b @an Bian O an CanA (3 ] (Ans: 2)
72 sinB+cnsect — 2 = sin” @ + cosec” B =

(1) 1 @) 2 (@yza 4) 4 (Ans: 2)
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73, lan 77 lan 237 tan 60° tan 67 tan B3° =
(1 o @ 1 3 43 ) 1 (Ans: 3)
13 [ Lo
4. sin” 1°+sin” 29 + __ 1 sin®yg" =
i1y %0 {2y 435 {31 45 : (4) 0 (Ans: 2)
e R
75, tan” x = sin | 2l cos ! LE: |: =
V5 13 )
12 o an o i : a8 .
T ! G) 33 4 = (Ans: 2)
0. In a wiangle ARC, under usual n-:nuliun,l Frirr; =
AABRC & TeoEl Sty o Suln P PR A
2 it o ; : ns: 1
i1y A (Z) A (3} A 4 A7 ( )

7. The general solution of 1+cos20=0 15 A =

1+ cos 20 = () & 2odies 05 B =

(Ans: 1)

. A " J. il
(1) LE?LTI]E;IiFE (2 nata, nelZ (3) |2n'_|‘7|,"i!'.J':EE (4) 2nmt—. necd
78, simhryr=4=x= (AHS' 1)
(1) logid++/17) (2) logfd—+17% (3 logd++15) ) loni4-415)
79, coshx =g = sinh 2y sinh x = -
{1 W — (2) o +a (3) et — a) 4} a - a (AnS: 3)

&0. If w is a complex cube root of unity then the roots 27 — & = () are

4
T . T T LT L R T = [} (i - —
w ownd S5 DedlpEinroaed, 2727 - 8 = 0 clwly Soreres

i b bl

L 22 2., ol 3 g
— W, - o= W, — W
el " (2} =3:3™3
2 Bl 7. g8 R A (Ans' 4)
K —_— =W, — W 1 —_, =W — W -
3] 303 3 "3 P

A
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3¢ — sin 3
g1 D o
T 2% +10
(1 = [
) 1 Sl o
ol @ 3 (Ans: 4)

- [ E - - E: o .
82. The sequence 1, 2, 32, 43 LA, e converges to the following imit

L, 1.5 j..ﬁ fﬂ. ..... L e s e dod 8508 adnd ot
(1) oo 2) 0 (Ans: 3)
(3 1 ) -1
~lan” x
BT hm—,h =l=u+bh=
=0 x* — psin® x
{2 {2y =2

3) | 4y - (Ans: 1)

n
84, Supremum of the set <1+ f;:‘ ‘HE N iz
it
14 D N
sled PHE Y P m e w T e wimar, .
bt i n | RN Duepd, alidnd ol (Ans. 2)
3 7 o
(1) = 2) — ) B 4) =
6 1 (3) % {4) n
83, Wspnxis defined as 1 or ar— 1 according as x = 0 orx = 0 or x < { respeetively and if |x] is the

greatest integer no l:*-;n,-.,L‘-;i]ll[_-I x then the limit of |x] + s x at x =0 i3

R T DR EesT [x] wihir SEnm e 0 dor v = 00 8o x 2 0 econtiine sen x el 1 Sor
5 . -
(& -1 & San Baxd x = 0353 [x] - san x end

Iy 0 {2y -2 3z (41 Does not exist
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[{=1)"
k6. The number of limit points of the set |7 — ~#© ?:]

e Rk, eDh Uolige Hogg

(Ans: 3)

(1) 3 (2) = (3 1 (41 0

87, _[ x[x]d =

(Ans: 4)

{2) 3 i3y 4 )]

LA

gg  lim | —-
=Wl X tan "

(1} 1 (2) 2 (Ans: 3)

1 1 )
|

3y D 4 -1
g e
HL}_ ]. -|,‘I] I_\,.-". .-_','I':i' 2
X
(= * A .
W) Vi-42 @ ;BB+22) @ $65-22) @ o (Ans: 3)

o0, If 7 -2, 21 — R is delined by vy =c¢*, xR then a value ol ¢e (-2, 2) such that
$f ()= f(2r- f-2) is
Fi1-2.2] = Re@d fix) =, xe R 205050 47(0) = f(2) - f(-2) edatn ce (-2, 2)

Ao (Ans: 2)

5

1 '
(1} log (cosh 2) i2) log lESmh 2

(3 27 loe (sinh 2)  (4) 277 log (sin 2x)

91, If §is a set consisting of # clements, then the numbers of functions from & = § into & 18

# aremrensy BDAN of Sod 8 ocwd § % 8 Hoed § £ Mo PReciTe Doge

Ans: 3
(1 i u" (3 0 (4} n" ( )

[P.T.0.
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at —at
g2, _;"{,._]:%_;. fla+ yp= fla—vw)=
i1}y Fix) 03 (21 26 ) (Ans_ 2)
(3 S 4y 20+ Fe

93, 83, the symmetric group on three lellers 15 an Emmpl-e of

. e R T T AT T T p— ' - =, e T
P s i‘-é"}'f‘_‘:w LT P W) & y Bl 5:« T e ST T
"

(1% a non-abeliom wroup (21 a cvelic group
§ S e
Didantho 50 Do A W R s e

31 an dbelian group (41 a=simple zroup P
s it : (Ans: 1)

- w e
B L TIE~ Tk gt B -
:\.l«..--:.l_--.l:i.- LT e 0 i Fradrddd T T

94, Let ¢ be a group of order 15 and & (# {¢}) asubgroup of G with 4 « & Then a possible order
of T is
15 sorone o L8 Berre G, T8 H (2 (e]) nf sdntorivo, H 4G sidaSod. sipdh Judly
I iiesa
{1y 7 (2y 10 (31 6 (4 3 (Ans: 4)

95, Lel 8, be the svinmeteic group on & kellers, (7 the multiplicative group of integers {1, 1), If. to cach
G e S, W is 1 or - 1 according as o is an even or odd permutation. then the kernel of the
homomorphism W is
n eSETED ?,éw el it L BN YR e T -fwn:_u_-_-; 1, =1} 3 Hesidmo O miaSod. i o e 8, Do RE

% < Ty e TE . - S g e
S En Doy Uy (o) e ] o -1 /e Sl BLEIRS Y dlool;, sodpe

=o'

(M {e) (23 41 (Ans: 3)
{3) The sel ol all even permutations (4) The sct ol all edd permutations
SAmarTradyo) Baed sz, ey Thd

96, If wi#1)1sa37th oot ol unily and if (G §5 the cyeliv group generated by w under multiplication then
the number of generators of o 1s

= RTINS s

w (=1 ey 15 373 Serete, W sdhdon k.ﬂ.ﬁ. sy 7 mpcad Or & Mo m2E Sarwenie e

(17 1 2 2 3) 36 4] 9 (Ans: 3)

97. The number of fields of arder 121 uplo isomorphism is

a—._.;:;#”“*,_ﬁ;,_,; };'E‘Q. SraEhasl 121 8063m e _!_1-_5"—" F'U-q-"ﬁ
|._ 1 _:l I. |'-2 1} | -‘:J raz {4:]

" (Ans: 1)
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98, 1% v + 1} is the ideal generated by x7 + | In the ring R |x[, then i

T s asermoophic te ane of
AT+ I

the following,

4 .
”|]1“

- L R -
o T ] - _n o = o [ =N,
D omodn esdo [ T 1) wocsd wnd fobf T3S o¥ ooidd

Sodico R |x] & x ¥ ) 1)
L ¢

1) R (7 € (3) O @ Z (Ans: 2)

99, An ireducible palynomial over O among the following is:

; 5 . & ey
Eodeld @ » el win wlosd

(1} 2 =422 +3 CUE (Ans: 3)

G} »* -6x+3 (4 227 -3

100, The minimal polynomial of 2 + 5 over s
Q% 7 + 43 cloaf), U500 wiraid ( Ans: 1)
(1) x* 10 +1 () 2t a1oxt 4l (3 Ao o1 @ L 10 -

——— —_—

WA x =

'y
= =

101, ¥ -t 5 e
) | W1+ x —Al-x | dx

| I | ] _
1 ¥ ey oo B () 4 ——— (Ans: 2)

2W1-x ) B N 21— 4F
. ) . ity
2. r=aqacos'0, y=gsin” Q0 — — =
ks
ek ! L |
LI ¥ o [ x |3 AT .
01y 2y | = (3 = 4 - - (Ans. 4)
| v L | | v ey
m, y—a 2
oy
2 5 i ! e

= B > oy e 2. -
11 &% logex® 2y x ll-r:-ger_t (31 a1+ logexT) 4y x°

Ms ' |P.T.C.
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104, -1'3 F .'l'-! = Siay = “I.f:'l .
(Ans: 2)

-flr.'L
. . 3 . - "
_ Aty P & eyt AT =
ey 2 e by g

i TR .
oy ¥ ax HIEan 5 oy

-

T, » - | X+ “I'E I \|“ =[] ,-.;:J ¥+ =
(1 _Fi!l [y “3}, (3] _;;1_1,- 4y —° (AnS: 2)

I, x=ain "d, y=yl -7 = —

|'§ l e II-\.
(1} 3’,3 () 7 (3 _;—_ 4 ﬁ-ﬂ (Ans: 4)

107, The rates of change in volume and in radius of a sphere are equal when the radius is
- Roly Do & R,

e e R aing o 2
L (Ans: 4
-~ (Ans: 4)

e oS e 2o A
AR .-""':.n'['f-\.\f-\.n'l P s o A e L [T
- o o -t ]
i
VI

O e
CR A R By BN e S e w R

4

=

(3} 24x

t-3

{] | ‘*.' ':.2.:' '\I'Eﬁ

[

-y

i ok
— iz a tangent w the curve ¥ = be 7 then the point of contact is

A
Teks. 10 the line —+
a

e

— ll,. '._I
- = - P ] - P - -

—+==1 wl 35 da o A L0oad e

; :

n ok

(17 {0, ) (27 (@ b {31 (b, M 41 {8

. . loge x
108, For x = (L the maximum walue of J (a0 = —ia
X

] log x ] .
fix)= o g U S I Tt
X .

(1y 2e @) e 3y Ie
- (Ans: 3)
ME

~h
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e ] ox )y a F LX)
1100 IF {15 diflerentiable at o then I“_'H_ e

PIV I I SPRC T xf(a)—af{x )
o D8 f EiSedio wod e i - (Ans; 3)

{1y 0 (2} Filw (3) filay-afia) & [flay- Fla

El El . * +
111, The projection ol Zi—3 j+ 6k on the veclor i+2 j+2F is

— — 3 i a —_—
NEE P+2f+2h 0 2i-3 16k ool S0

o

|8 20 ] 4 .
(1 5 (2) 3 (3) 3 @ 3 (Ans. 3)
1z, I 1‘: = 3.‘;}'?+ ‘_f.:E, then J‘F-ff_i': =—————along the arc C ol the parabola v Zx” from (0, 0w

(1. 2)

— S : Sag= s o s : - - S i [
F=3gpisy j wiood p = 2x" Dobocizop (0, 0) Sced (1, 2) £8% oufa (0 Maooe

[Fdr=—

:

. —25 ;L ik i =28 25 ]
(L) — @ < e 4 5 (Ans: 2)

113, Suppesc O is the centre of a cirele and A, B, C, 13 are [our points on it. If 2 190C = 140° then
SDAC 1 1M

() Foor Ko sy A, B, O D oo orep Sodedies eficEoenn, SDOC = 1407 eosad

ZDAC + £ZDBC =

I _ . iy s (Ans: 3)
(17 e (2} 120 (3 14100 (41 180°

114, Twa eircles of equal radii with centres A, B intersect at I and ¢ I AB = 6 em, I"Q = § em, then
the radius ol ither circle {in cm) is

A, B & Sores MR S TGO e Dol s PQ e SG podoll oty AB=6 e,
; = i)

-

{1y 10 {2) 7 (1) 6 {4) 5 (Ans: 4)

PQ = 8 . eonsd o 550D e (Buleed)
i

M [P.T.0).
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115, The ratio in which ¥Z plane divides the join of the points (2, 4. 3) and (3. 5, —4) is

(Ans: 3)

fizeigpee (2, 4, 5), (3, 5. —4) o 850 Dy pomlly YZ oo Doitcd D98

(1} 2:3 @ 3:2 (31 2:3 (4]

116, The angle berween the planes 2x —p+z=6andx - p+22=7is

- A
x—y-z=6x+y+ 2z =7 ders ofGEns

(Ans: 2)

(1) o {2) 13 (31 m'4 i4) n2
117, The cquations of X-axis in it normal form are _
sfioon Srdod’ X-efo Biotiermn:
(Ans: 4)
§ AR R r - Yy oz t ¥ I
1 —_——=—= — 2 — == - % —_=—= — - —_= -
W 5= ST GYT7170 T

: 2 2 i , - :
L18, Volume of the sphere 2x° 4 ?_J-? I 2z% — 4x + 12y — 8z + & = 0 (in cubic units) is approximately

figo 2%+ 2% + 22 —dx + 12y — Bz + 8 = 0 SonadErme (359 CETDedT) eeTumodin

) 3804/10 ) 4404/10
Y AT
L, 880 4 A0 (Ans: 1)
) 21 (4) 21
B -1 T z=3 -2 -3 .i:'_._.
119, The shortest distance belween the lings = — = and = =2 = = 15
2 3 4 k) 8 5
Butsei o ReplieaWeddi 0w o= dEaS . E
e o BT T g 3 ' 3 = n : j— L3 hcc',fE Seli, e
% & iy (i : . (Ans: 2)
) = s Ly R 4y T =
Uy 75 2 e ) 3 4 276
|20, The general cquation of the cone passing through the coordinate axes Is
MU evgre Mo Fdb Fosth Hlotie S, drde
il 2 a o] i) "1
(1) ax"+ by —ez"=1 2y e+ b+ ezt =10 .
. : (Ans: 3)
(3} fiz+ gz + ey =1 (4) Az +gax +fep =10
A

s
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121, The equation of a straight line passing (hrough the point of intersection of the lines x + 2y — 19=0,
x—2dy—3=10and is at a distance 5 units from the point (-2, 4) is
oty (-2, 4) Moo 5 whrley drdof donr BHSew x+ 2y - 19=hx— 2y -3 =0 o poxs

ﬁﬂfl—:'-:-__. liwl '\.'\.-'--_HJI.I a8 .35:—‘5&.-' .-_n_L'-_n_lF'i‘.i-

5 5 %
0 2 '1_|E EEiR (2} _1-+=L_11 (r—11)
q ﬁ -
i3) _}--4:%— (x—11) (4] }~+4—E ix 10 (AnS. 1)
)

122, The orthocentre of the triangle, having the equations 2y -y =9.x + ¥ =92y —x ~ 9 as the equations
af 1ts sides, 15
Ze-p=%ox 0 B2y —x =9 e ghere BLEERCT Mo HEbaty couingio

(1} 74, 4) (2) {5, 5) 3) (6, 6) @ 7.7 (Ans: 2)

123, The distance between the purallel lines 9% By | _uz —18x =Gy + B=101is
Aoy Caus Oy® — Gxy + _]-"1 Il — 6+ B =0 & Sode doedin

a5

1 P
t 3 ) \..'I-”i

1 2 Ans: 4
@ o Ol ( )

124, Ifx v -1 Oandx — ¥+ 3 =0 are tangents 1o a circle & then the radips of § is

e B SHx iy - 1=0,x+ p+ 3 =02 Feidee ecot o Subo Pup L el
[TR="] ¥ = LT [P o o

(Ans: 2)

(1} 242 2y 42 Gy — @ 442

125, The equation ol the cherd of the circle &° + 3 25 having {1, 1} as the mid peint of the chord is
¥ +37 =25 &b Sy, (1, -1) o Soticipne Mo ey $iag5n0 (Ans: 3)
(1} x—y+2=0 (2} x - p-2=0 (N x p-2=0 (Hx vy 4=0
126. If a coaxal system of circles has (0), (1) as one ol its limiting points and x + y = 1 as the radical axis
then the other limiting point is
X T _1 = |. :ln.- 'CI-I:.H:E_,.JUF'_- I'lII E'..n.;. ‘\.l.u H. :\.-"'\l-\_lal.-ﬂf‘"‘eze ({] ”} -'_ 1,“_*_.: E{El: -\'E f_l_raﬂ ﬂljl.;rll L-D":’CE

(y (L1 @) (2.2 (3 G, 3) 4 (-1, =) (Ans: 1)

S [P.T.03,
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127. The focus of the parabola _}2 -x 2y - 2=01s

Sorseche P —x -2y - 2 - 0 @os, T

y "

5 1 "5 80 .
D) _I'l_. (3 {1, 1} EY |T I' (AnS. 2)

ay |13
A
128, A circle is inscribed In oan ellipse with the minor axis as the dismcter of the circle, Then the
eccentricity ol the cllipse is
ErEre wptont sl dyfc of Sdiod eoslfotednl. & &Y o S ogn
2 " l 1 [
O @ 7 @ 7 @ 5 (DELETED)
(One Mark added To All)
129, The equation of a circle in polar coordinates is » — 5 cos 8 — 343 sin 0, Then its centre is

: - | e g =S
Sl DO wE dnido AhsEtea r = 5 cos O 343 sin 0, el o Satio

e

I - o o (Ans: 3)

e, T i .ﬁ Em = B "1 =
Eh 2 ]>7) ® |55 @) 2|
130, The centre of the h‘.-pl;'r'h'i.!-]d 9" — 16" | 18 + 323 — 151 = (1 is
e s Dy - 1{"1 1 TRe = 32p - 151 —DI\_E_"_- Zoic (Ans- 1)
(I 1.1 2) (1, 1) (3) H.. 4y {1,-1)

131 If Avand 1B are squure matrices of order # and if 7|, r2, r5 are mnks of A, B, AB respectively

Lthen f =

A, B3 oo r S BORE DEctRisBse e, A, B, AB e 83 555 rp. e, Py e ol oy

(1) 2n-n+n (2} i+ —n {3) 2n—-in+r) 4 n+n (Ans: 2)
132, Let A be a square matrix of order #, Adj A be its adjoim matrix. If rank of A is m then the tank of

ad] A s

R GO I DELOEDTEE A, ol etbzofir de Adj A s sd, A dl Lilag)y Eel nescoo® Adj A 53

(1) n-2 (2} m—1 (3) » (4) <n-1 (Ans: 3)

133, If T:R? — R is the linear transformation pven by TOL 1)=3,T(1,2)= L then T (x, 1) =
T(L1)= 3, T(l,2)=1ef Seoeds 3o 38565 T R° S R oad T (s 1)
(D x12p (2) 3 ¥
(3) 5x- 2y (4} 6y 3« (Ans:3)
A
Ms
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134, Iff: R? — R is the linear transformation given by f(x, vy = (x — 2w 1 2x) then the kernel ol f

1s:

£l 3 dr =20y — 253 veobeds 8lab 53553 1 RY = R wowd £ dus, woil

(y {0} (2 {00, 1 (Ans: 2)

{(3) {2, 1), (1. 23} G 401, Th (0, 0]
135, I T : B® — R” is the linear wransformation defined b T (x, ¥) = (x — x ¥ = 2x] then the nullity of

T 1s

T:R™ » R o Blcn vlios Tln 9= — 3 ¢+ 208 Sklotadd T ot B

() R 2y 1, 0y (3) 0 (4} 1 (Ans: 3)
136 [0 (x ) = (3x—p 2% + 4y, 5x — 6)) defines a linear transformation fom R into R then the matrix

ol linear frunstormatien T with respect to the standard bases is

R sood RY 6 T {x )= (33 20 = 4y, 51— 6p) o8 Shobnongsit Dok, S T Ger, mrnds,
e EE AT SNy

30-1)

4

-6/ (Ans: 4)

. f3 0 -1
- T A i3 5% " N
7 - i S f
M i1 4 ) U . ﬁ,| W 5 )
S ) b . r |.H. = l-II X

[ ]

LR B

137, Eigen values of the linear operater T : R — R given by T {x, , ) = -[" + oy, p—z, 2v + 420 are
Timwal={Zx+p,1-—z. 2+ 4;} ) L [RLINT e i o R’ = R’ s i a)ELEE)

(1) 3,32 AT (3) 2,2,3 @ 1.3 (Ans: 3)

138 I & # -2, und the svstem of cquations
{1-2)x-3y+3z=0
r=(5+A)r+3z=0
Gx—by+(d—Aiz=10

has non-zero solutions then A =

A od =2 wininm Slostiere g
(1-A)x—3p+3z=0
3-(G+A)y+3z=10
Bx—Gy+(d—A)z =10

e i a
Hr Fommy 5o arcithasod] A =

(1} 3 2y 4 (31 -4 {4 -3 (Ans: 2)

i IP.T.O.
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A=si—-1 - 2 L= 4% - 647 +94°% =

|
)

(1) 4A (21 3A
(3} 2A (4. AT

(Ans: 1)

2 e . e : . :
140 If T R® — R is the linear transformation given by T (x, ¥ = (x — p, ¥ — 2x, 2x — 33 then the rank
of T is

o e abie - RS R sinT Gy =y -2o I -3 G anmdnsd T Chacs:, Bl

(1 1 (2) 2 (31 0 4 3 (Ans: 2)
141, The integers m 2 1 such that v 1 x 1 1 divides (x = 1" — 2™ — 1 are of the form

kAD™ ™ ] el rgroses m 2 1 v drko

(17 6k+-2orék+3, ke N {2) 6k+3orok+4, kc N

(3) b+ lordk 1 3, ke N2 D} {4) m is any integer (AnS: 3)

m ;L.“.-}T- T

n=1

. ol . - - . - - -
142 1f w (# 1) 15 a0 pth rool of umty then 1+ 2w 4 30 1~ i

o~ - -
wizllsia e nsforemod 1+ 2w+ 3w + .+ =
(# 1] Ay s

1 — @ — (1 — @ —— (Ans: 1)

=1 L—w 1= w & L+ w

A 1
143, 11— e = iz o= fix)=
= A J.

=
)
Sl

(1 Jog e =11+ 2log e’ =1+

(Ans: 4)

(31 Jog (e D+ 2x @) 2logie® 1) - x
1. . dit it
144 W=tan " {x+yl=r— =+ y—=
ax c]_:,'
] . i I _ .
(11 sin Zu 2y cos 2w {3) :hnl'_",u (4 —cos Y (AnS. 3)

i bt
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A

i b

. -1
” dy =log| g
e =11
r
. xe
(1 ”
xet =1
e X +]_|:
1
X
mid

| log{l+ tan x)dx =
1

T

{1 Elugf
i

i3y —logl
B

x| == glx)=

a xet + 1
(2] e
xet

A I L
4 i
£+

—

Lsing the empirical relation between Mean, Median and Mode, Mean =x (3 Median

T

waiEas, lh.n_"\.'\." |“| A, SR

Eaneh X =

[

1

) —
L' I S
1

Bavedy e 2 EINE DA
17 :
1 =
OB
=
- =
L] A

N
FHIANIEY Bl

ol E:&.:r”{-

,e'l.__' HJLI___ '

e T ] ¥ |._

= "‘-"‘———"-l-' 'H.-| T "'-| s

5 rf‘;: :T'::t s
&
=
b
(2
.
7
i) g

(Ans: 1)

(Ans: 3)

Mode) implies

ol NG — k,wu':""".l

(Ans: 2)

(Ans: 2)

[P.T.Ch.
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4% The varance of the first # natural numbers 13

Tealied m o F,;:gt,--:_: 13']:1

- n?+1
L) 12
) n° 1
’ O
e n° =1
6 (Ans: 4)
.'43 -1
3 -
[4) m

150 If two dice are thrown simultancously then the probability of getting a total of 7 is

Dol SOl waiD 00R, Teln T Dafio By Doy

L

,.
i
c~.|*-'“

(Ans: 2)

A



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18

